QUESTION BOOKLET SERIES | A\ SUBJECT CODE XX01

[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question Booklet and the

Answer Sheet before commencement of the test.

2. The duration of the test is X Hour. There are 15 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.

4. This booklet contains X Pages. Please check for completeness of the Question Booklet
immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be marked on
the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely, corresponding to
(A), (B), (C) or (D) against the relevant question number.
Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read such
marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once darkened
cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be
provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator. Use your
best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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PART-I
(Questions 1 - 05)

French people love cooking, the English don't seem very interested.
A. when B. whenever
C. where D. whereas

. ThaiHIex T IUTNT Y & fore fpar srar g1/
Fathometer is used to measure:

A. YU / Earthquakes B. @N1 / Rainfall
C. 9FR &1 TeT5 / Ocean depth D. @+ &1 diadT / Sound intensity

. TP T B TS Yol & 20% B gfg BI ST g < SUD &b d B fdd-T glex GHTT: /

The percentage increase in the area of a rectangle, if each of its sides is increased by 20%
is:

A.40% B.42%

C. 44% D. 46%

. 60 HIC el 3IR 40 HicX IS TP SHIADBR Ul & d1d H &l ebIc ARTG & AR Ulh b SIh!
8= o1 IuanT &4 & ®u H fovan mar 81 afe <4 &1 &7wd 2109 of Hiex 8, O IS B
%ﬁ?ﬂéw%? / A rectangular park 60 m long and 40 m wide has two concrete crossroads
running in the middle of the park and the rest of the park has been used as a lawn. If the
area of the lawn is 2109 sq. m, then what is the width of the road?
A 2917 /291 m B.3HI/3m

C.5.82 Iﬁ/ 582 m D. Eﬁﬁaﬁg:@/ None of these

. Tfe forht fafRry YT § NOIDA &1 OPJEB & & U H SifSd fohar SITar 8, af ST HIST & DELHI
P B pifed fear SITET? / If in a specific language, NOIDA is coded as OPJEB, how is
DELHI coded in that language?

A. CDKGH B. EFMLJ

C. FGNJK D. IHLED
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6.

PART-II

(Questions 6 — 15)

a1 § b dd HaIRdT 3R frdouadt & foe T e & feue &t fafYy & ser S e: /

The method of design of steel framework for greatest rigidity and economy in weight, is
known as:

A. R f&eIg / Simply design

B. 31¢f-H3R f&MZ / Semi-rigid design

C. Qul-®H3R f&18 / Fully rigid design

D. '{:Iﬁﬁaﬂg:lfﬁ/ None of these

fafafaa o 9 g8l du= Eff / Pick up the correct statement from the following.

A. SR FRRBR ol 39 & TS RE Sig H &7 S HdT 2| /
Vertical stiffeners may be placed in pairs one on each side of the web
B. THhd SR R B! 99 & fIuid fFRI IR dopfetss ¥ & 341 o Il g1 /
Single vertical stiffeners may be placed alternately on opposite sides of the web
C. 8fqS REHR 1 99 & TS IR TH-TS oifs & 3R IRI-IRT I @1 o Il g | /

Horizontal stiffeners may be placed in pairs one on each side and alternately of the web

D. Suad T / All of these

8. a9 fpufeiT 3y dR R 3 fofig IR it § 5181 / Web crippling generally occurs at the

point where:

A. §h G{F'q;UT BT BT ] / Bending moment is maximum
B. o §d gAdH g/ Shearing force is minimum

C. Hobfgd “-ﬂ??ﬂ’l@?ﬂ%/ Concentrated loads act

D. fa&qur 3ifereaH 81T § / Deflection is maximum

9. UEISI B 3R TSP W WIS T 2w ) FRRaT & R 991 7 laR &) Sl ol & /

10.

The wall constructed for the stability of an excavated portion of a road on the hill side, is
known as:

A. Refatay Retaining wall B. S didl / Breast wall

C. WM< afd / Parapet wall D. ATHd afd / Normal wall

T FHeuTy &1 HITTs HIh! 88 db HH BI off Fabd g1 / Thickness of a pavement
may be reduced considerably by:
A. ad flE! & ¥U= / Compaction of soil Only
B. dhadl fE] & FRURHRUT / Stabilisation of soil Only
C. Wﬁ@aﬁﬁlﬁﬁw / Drainage of soil Only
D. 39 g+ & TSI / Combination of all these
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11. 300%@%@@3@@3’7%@ %ﬁ'ﬂ@ﬂ@‘ﬂﬂ@/ For tunnels
exceeding 300 m in length, the grade should be provided below:
A. =TT AFSTE BT 50% / 50% of the ruling gradient
B. & el AFSUCT BT 60% / 60% of the ruling gradient
C. el UfEUE BT 75% / 75% of the ruling gradient
D. &l ATEUE BT 80% / 80% of the ruling gradient

12. AENINRI 9Id &1 3UdcHid: / The refractive index of the ocean water:
A. A9UIAT o TTY Tl 8 / Increases with salinity
B. ATUHM & 1Y dedl 8 / Increases with temperature
C. A9UIdT & 1Y °gedT § / Decreases with salinity
D. dT9H & W1Y °edT § / Decreases with temperature

13. 31 DI (Hifere TWe)) B! T AT ST ] 1/ The solid angles are measured in
A. f&it/ degrees B.US/ grades
C. &I / radians D. WRf&T= / steradians

14, TN M R Ve BT FRUTY & Sep =) Ry faig b1 HEI AR /

The point on the celestial sphere vertically below the observer's position, is called

A. S / zenith B. 3THIRIT fdg / celestial point
C. F1eR / nadir D. U/ pole
15. I TR B ﬁWTGlTW%I / Queen closer may be placed:

A. BSX B U / In header course

B. @ﬁﬂaﬁﬁf{/ In stretcher course

C. UGG §¢ & §7Td H 88X B H / In header course next to first brick
D. u%sﬁ%?%mﬁ@ﬁvaﬁﬁﬁ/ In stretcher course next to first brick
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Rough Work
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